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/etc/eltex-wifi-cab/system.xml 7:

"softwlc_service"

v MpUHATE || # OTMEeHUTb
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Xoct localhost
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http://hostname:8080/ems/jws
http://hostname:8080/epadmin

letc/eltex-wifi-cab/system.xml

<?xm version="1.0" encodi ng="UTF-8" standal one="no"?>
<! DOCTYPE properties SYSTEM "http://java.sun.conf dtd/ properties.dtd">
<properties>
<entry key="npbngoaddress" >nongodb://1 ocal host: 27017/ wi fi - cust omer - cab</ entry>
<entry key="nbi address">http://| ocal host: 8080/ axi s2/ servi ces/ Radi usNbi Servi ce?wsdl </ entry>
<entry key="nbi.serviceLogin.user">softw c_service</entry>
<entry key="nbi.servicelLogin. password">111213141516</entry>
<entry key="nbi . servicelLogi n.request Ti meout.sec">120</entry>

<l--Bonnie or NBI-->

<entry key="data.service.type">NBI</entry>

<entry key="bonni e. servi ce. host">| ocal host </ entry>
<entry key="bonni e. service. port">9070</entry>
<!--Bruce-->

<entry key="bruce. service. host ">l ocal host</entry>
<entry key="bruce. service. port">8008</entry>
<l--Jobs-->

<entry key="j obs. service. host">| ocal host </ entry>
<entry key="j obs. service. port">9696</entry>

, eltex-wifi-cab :

adm n@bunt u: ~# sudo systenttl restart eltex-w fi-cab.service

/etc/eltex-pcrf/eltex-pcrf.json 13:

letc/eltex-pcrf/eltex-pcrf.json

"sql . aut h. service" : {
"url": "jdbc:nmysql://local host/eltex_auth_service?
zer oDat eTi meBehavi or =convert ToNul | &useUni code=t r ue&char act er Encodi ng=ut f 8&connect Ti ne$

"user": "javauser",
"password": "javapassword",
"max_pool _size": 4

o

"1 anguage” "en",

"radius.nbi" : {
"wdsl .url" : "http://local host: 8080/ axi s2/ servi ces/ Radi usNbi Servi ce?wsdl ",
"usernane" : "softw c_service",
"password" : "111213141516",
"connection. timeout.ns" : 30000,
"request.tineout.ns" : 120000

I

"tariffs.update.interval" : {
"interval" : 1,
"unit" : "hours",
"apb_enabl ed": fal se,
"apb_host": "l ocal host",
"apb_port": 8090

I

, eltex-pcrf :



adnmi n@bunt u: ~# sudo systentt| restart eltex-pcrf.service

javauser

/etc/eltex-doors/application.conf 7

letc/eltex-doors/application.conf

# Mysqgl datasource properties

dat abase {
host = | ocal host
port = 3306
name = el tex_doors

user = javauser
password = 125521

pool {
# Time to wait for a connection
connectionTi meout = 10s
# Time to wait for connection validation
val i dati onTi neout = 3s

|
=

mn =
mx = 5
}
}

# Basi c account credentials
auth {

username = user

password = password

}

letc/eltex-pcrf/eltex-pcrf.json 68, 75, 82, 91, 114:

letc/eltex-pcrf/eltex-pcrf.json

{
"aut h. address" : "0.0.0.0",
"auth.port" : 31812,
"aut h. nac. open. ti meout.s" : 3600,
"aut h. mac. wel cone. servi ce" : "WELCOVE",
"acct.address" : "0.0.0.0",

"acct.ports" : [1813, 31813],

"| ease. saver. address" : "0.0.0.0",
"] ease. saver.port" : 4381,
"aaa. i nstances" : 5,

"aaa. host" : "127.0.0.1",
"aaa.secret" : "testingl23",
"aaa.auth.port” : 1812,
"aaa.acct.port" : 1813,
"aaa.rest.port” : 7080,
"aaa.timeout" : 10,
"aaa.attenpts" : 1,

"web. noni toring.port" : 7070,

"cluster.enable" : false,



"cluster.eventBusPort" : 5801,

"radius" : {
"url": "jdbc:mysql://1ocal host/radi us?
useUni code=t r ue&char act er Encodi ng=ut f 8&connect Ti neout =5000&socket Ti meout =5000&aut oReconnect =t r ue&useSSL=f al se",
"user": "javauser",

"password": "125521",
"max_pool _si ze": 16

h

"mongo. perf" : {
"connection_string": "nongodb://Ilocal host: 27017/ pcrf?
wai t QueueMul ti pl e=500&connect Ti neout M5=10000&socket Ti meout M5=0",
"db_nane": "pcrf"

h

"nmongo.ott" : {
"connection_string": "nongodb://local host: 27017/ ott?
wai t QueueMul ti pl e=500&connect Ti meout M5=10000&socket Ti meout M5=0",
"db_nane": "ott"

h

"session. storage" : {
"session. check. period.s" : 300,
"unaut h. store.tine.s" : 600,
"interval . nunber. expired" : 3,
"mn.interval.s" : 45,
"default.interval.s" : 600

b

"bras.coa" : {
"coa.tineout" : 10,
"coa.attenpts" : 1,
"coa.secret" : "testingl23",
"renote.coa.port" : 3799,
"1 og. cl ean. period.s" : 604800,
"l og.store.period" : {
"period" : 14,
"unit" : "D

}

rker. pool . size": 20

h

"sql.enms" : {
"url": "jdbc:mysql://1ocal host/eltex_ens?
useUni code=t r ue&char act er Encodi ng=ut f 8&connect Ti meout =5000&socket Ti meout =5000&aut oReconnect =t r ue&useSSL=f al se",
"user": "javauser",
"password": "125521",
" max_pool _si ze": 16

h

"sqgl.wireless" : {
"url": "jdbc:mysql://1ocal host/wirel ess?
useUni code=t r ue&char act er Encodi ng=ut f 8&connect Ti meout =5000&socket Ti meout =5000&aut oReconnect =t r ue&useSSL=f al se",
"user": "javauser",
"password": "125521",
"max_pool _si ze": 16

h

"sql . auth.service" : {
"url": "jdbc:mysql://1ocal host/eltex_auth_service?
zer oDat eTi meBehavi or =convert ToNul | &useUni code=t r ue&char act er Encodi ng=ut f 8&onnect Ti meout =5000&socket Ti neout =5000
&useSSL=f al se",
"user": "javauser",
"password": "125521",
"max_pool _si ze": 4

h

"] anguage" en",

"radius.nbi" : {



"wdsl .url" : "http://local host: 8080/ axi s2/ servi ces/ Radi usNbi Servi ce?wsdl ",
"usernane" : "softw c_service",

"password" : "111213141516",

"connection.tineout.ns" : 30000,

"request.tinmeout.ns" : 120000

h

"tariffs.update.interval" : {
"interval" : 1,
"unit" : "hours",
"apb_enabl ed": fal se,
"apb_host": "l ocal host",
"apb_port": 8090

H

"bras.cron.update.interval ": {
"interval" : 1,
"unit": "hours"

}
"filters.cache.dir" : "/var/lib/eltex-pcrf/filters/",

"clickhouse": {
"url": "jdbc:clickhouse://l ocal host: 8123/ radi us",
"user_nane": "javauser",
"user_password": "125521",
"actualization_period_ns": 15000

h

"accounting. options": {
"use_clickhouse": false,
"use_nysqgl": true,

"batch_i nterval _ns": 300000,
"max_queue_l oad": 100

h

"generic.ap.registrar": {
"max_aps_i n_queue": 30,
"ap_register_interval _ns": 600000,
"added_ap_cache_ttl _ns": 600000,
"host": "l ocal host",
"port": 8080,
"wor ker _pool _si ze": 8

h

"kafka": {

"ncd. enabl ed": fal se,

"circuit.breaker": {
"timeout.ns": 30000,
"reset.ns": 60000,
"max. failures": 3

H

"producer": {
"boot strap. servers": "local host:9092",
"linger.ns": "1000",
"topic": "ncd",
"max. bl ock. ns": "30000",
"request.timeout.ns": "14000",
"delivery.timeout.ns": "30000",
"acks": "1",
"retries": "1"

/etc/eltex-jobs/application.properties 14, 41:



letc/eltex-jobs/application.properties

server. port =9696
spring. bat ch.j ob. enabl ed=f al se

spring. dat asource. j dbcUr | =j dbc: h2: mem t est db; DB_CLOSE_ON_EXI T=FALSE
spring. dat asour ce. dri ver Cl assNane=or g. h2. Dri ver

spring. dat asour ce. user nane=sa

spring. dat asour ce. passwor d=

spring. dat asour ce. maxi mum pool - si ze=200

spring. h2. consol e. enabl ed=f al se

spring. ensdat asour ce. j dbcUr | =j dbc: nysql : //127.0.0. 1/ el tex_ens?

zer oDat eTi meBehavi or =conver t ToNul | &useUni code=t r ue&char act er Encodi ng=ut f 8&r el $

spring. ensdat asour ce. dri ver Cl assNane=com nysql . cj .j dbc. Dri ver

spring. ensdat asour ce. user nane=j avauser

spring. ensdat asour ce. passwor d=125521

# ConnectionTi meout property controls the maxi num nunber of mlliseconds that a client (that's you) will wait
for a connection fromthe poo$

spring. ensdat asour ce. connecti on-ti meout =15000

# Val i dationTi meout property controls the maxi num anount of tine that a connection will be tested for aliveness.
spring. ensdat asour ce. val i dati on-ti meout =3000

# 1dl eTi meout property controls the maxi mum anmount of time that a connection is allowed to sit idle in the pool.
spring. ensdat asour ce. i dl e-ti meout =30000

# M ninmum dl e property controls the m ni mum nunber of idle connections that H kariCP tries to maintain in the
pool .

spring. ensdat asource. m ni mrum i dl e=1

# Maxi mum si ze of connection pool

spring. ensdat asour ce. maxi mum pool - si ze=48

services. ngw. host =127.0.0. 1

servi ces. ngw. port =8040
services.ngw.retries=1

servi ces. ngw. att achnent . maxSi ze=10000000

services.report. al | Sessi ons. conpress=true

servi ces. nongo. dat abase=j obs
servi ces. nongo. uri =nongodb: //127. 0. 0. 1: 27017/ j obs

#spring. radi usdat asour ce. j dbcUr | =j dbc: cl i ckhouse: / /| ocal host: 8123/ r adi us?

zer oDat eTi neBehavi or =convert ToNul | &useUni code=t r ue&char act er Encodi $

#spring. radi usdat asour ce. dri ver G assNanme=r u. yandex. cl i ckhouse. d i ckHouseDri ver
spring. radi usdat asour ce. j dbcUr| =j dbc: mysql : //127. 0. 0. 1/ r adi us?

zer oDat eTi meBehavi or =conver t ToNul | &useUni code=t r ue&char act er Encodi ng=ut f 8&r el $
spring. radi usdat asour ce. dri ver d assName=com nysql . cj . jdbc. Dri ver

spring. radi usdat asour ce. user nane=j avauser

spring. radi usdat asour ce. passwor d=125521

/etc/eltex-radius-nbi/radius_nbi_config.txt 5, 14, 22, 30, 38, 46, 131 :

/etc/eltex-radius-nbi/radius_nbi_config.txt

# DB radius(alias=radius)

radi us.jdbc.driver=org.gjt. nmnysql.Driver

radi us. j dbc. dbUr | =j dbc: nysql : / /1 ocal host/radi us?

zer oDat eTi meBehavi or =convert ToNul | &useUni code=t r ue&char act er Encodi ng=ut f 8&r el axAut oConmmi t =t r ue&connect Ti neout =50
00

radi us. j dbc. user name=j avauser

radi us. j dbc. passwor d=125521

radi us. j dbc. maxPool Si ze=48

radi us. j dbc. i nUse=yes

# DB radius replica(alias=radi usReplicaPool)



#TODO Change it to replica url

radi us.jdbc.replica.driver=org.gjt.nmnysql.Driver

radi us. jdbc. replica. dbUrl =jdbc: nysql ://1 ocal host/radi us?

zer oDat eTi meBehavi or =convert ToNul | &useUni code=t r ue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti neout =50
00

radi us. j dbc. replica. user nane=j avauser

radi us. j dbc. replica. passwor d=125521

radi us.j dbc. replica. maxPool Si ze=48

radi us. jdbc. replica.inUse=yes

# DB ens(alias=ens)

ems. jdbc. driver=org.gjt. mm nysql . Driver

emns. j dbc. dbUr | =j dbc: nysql : // 1 ocal host/ el tex_ens?

zer oDat eTi meBehavi or =conver t ToNul | &useUni code=t r ue&char act er Encodi ng=ut f 8&r el axAut oCommi t =t r ue&connect Ti neout =50
00&noAccessToProcedur eBodi es=true

emns. j dbc. user nane=j avauser

ens. j dbc. passwor d=125521

emns. j dbc. maxPool Si ze=48

ens. jdbc. i nUse=yes

# DB wreless (alias=wreless)

wirel ess.jdbc.driver=org.gjt.nmmnysql.Driver

wi rel ess.jdbc. dbUrl =j dbc: nysql://1 ocal host/wi rel ess?

zer oDat eTi meBehavi or =convert ToNul | &useUni code=t r ue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti neout =50
00

wi rel ess. j dbc. user nane=j avauser

wirel ess. jdbc. password=125521

wi rel ess. j dbc. maxPool Si ze=48

wirel ess.jdbc.inUse=yes

# DB | ogs (alias=logs)

| ogs.jdbc.driver=org.gjt.mm mysql.Driver

I ogs. jdbc. dbUrl =j dbc: mysql :/ /1 ocal host/eltex_alert?

zer oDat eTi meBehavi or =convert ToNul | &useUni code=t r ue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti neout =50
00

| ogs. j dbc. user nane=j avauser

| ogs. j dbc. passwor d=125521

| 0gs. j dbc. maxPool Si ze=48

| ogs.j dbc. i nUse=yes

# DB |l ogs (alias=eltex_auth_service)

el tex_auth_service.jdbc.driver=org.gjt.nmmnysql.Driver

el tex_aut h_service. jdbc. dbUr | =j dbc: nmysql : // 1 ocal host/ el tex_auth_service?

zer oDat eTi meBehavi or =convert ToNul | &useUni code=t r ue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti neout =50
00

el tex_aut h_servi ce. j dbc. user nane=j avauser

el tex_aut h_servi ce. j dbc. passwor d=125521

el tex_aut h_service. j dbc. maxPool Si ze=48

el tex_aut h_service.jdbc.inUse=yes

# ems-northbound

ens. nbi . host =127.0.0. 1
emns. nbi . port=8080

ens. nbi . pat h=nort hbound
ens. nbi . protocol =http

# tontat ur
tontat. host=127.0.0.1
tontat. port =8080

# pcrf stuff

pcrf. enabl ed=true
pcrf.url=http://1ocal host: 7070
pcrf.usernane=admi n

pcr f . passwor d=passwor d
pcrf.readtineout =11
pcrf.witeti meout=11

# pcrf nongodb connector
pcrf. mongodb. enabl ed=t r ue
pcrf. mongodb. uri =mongodb: / /1 ocal host: 27017/ pcr f



# wifi-custoner-cab nongodb connector
wi fi cab. mongodb. enabl ed=t r ue
wi fi cab. mongodb. uri =nmongodb: //1 ocal host: 27017/ wi fi - cust oner - cab

# El tex. SORM2. replicator MongoDB 'sornR' connect
sor n2. nongodb. enabl ed=f al se
sor n2. nongodb. uri =nopngodb: / /| ocal host: 27017/ sor n2

# wifi-custoner-cab request settings
wi ficab. ti meout =90000

# El tex. SORMR.replicator host to use API
sor n2. enabl ed=f al se

sornR. url =http://Iocal host: 7071

sor nR. user namre=adm n

sor n2. passwor d=passwor d

#It enables records export to SORMB while editing wifi users
sor nB. enabl ed=f al se

# ott nongodb connect or
ot t. nongodb. enabl ed=t r ue
ot t. nongodb. uri =npngodb: / /| ocal host: 27017/ ot t

# netrics

metric. port=9010

# SSO settings
sso. enabl ed=f al se
sso. clientSecret=
sso.clientld=

# SSO REST

SSO.
SSo.
SSo.
SSO.
SSo.
SSo.
SSo.

SSO.
SSo.
SSo.
SSO.
SSo.
SSo.
SSo.
SSo.
SSO.
SSo.
SSo.

rest.
rest.
. server. port=80
rest.
. protocol .version=2.0
rest.
. passwor d=

rest

rest

rest

rest.
rest.
rest.
rest.
rest.

rest

rest

rest
rest

server. protocol =http
server . addr ess=

server.tineout.sec=10

user nanme=

get Token. pat h=/ api nan- gat eway/ b2b_t est/ get Token

get User | nf 0. pat h=/ api man- gat eway/ b2b_t est/ get User | nfo
addUser . pat h=/ api man- gat eway/ b2b_t est/ addUser

updat eUser . pat h=/ api man- gat eway/ b2b_t est/ updat eUser
del User . pat h=/ api man- gat eway/ b2b_t est/ del User

. addUser Par am pat h=/ api man- gat eway/ b2b_t est/ addUser Par am
rest.

del User Par am pat h=/ api man- gat eway/ b2b_t est/ del User Par am

. get User ByNane. pat h=/ api nan- gat eway/ b2b_t est/ get User ByNane
rest

get User ByEmai | . pat h=/ api man- gat eway/ b2b_t est / get User ByEnai

. reset Passwor d. pat h=/ api nan- gat eway/ b2b_t est/reset Passwor d
. get User ByPar am pat h=/ api nan- gat eway/ b2b_t est / get User ByPar am

B
HHHHHHH DB ELTEX _PORTAL set t | ngS#H####H#HIHHHHIH IR

portal .db.driver=com nysql.jdbc.Driver

portal .db. url =jdbc: nysql://1ocal host: 3306/ ELTEX_PORTAL?

max_al | owed_packet =32362048&useUni code=t r ue&char act er Encodi ng=ut f 8
portal . db. user nane=j avauser

portal . db. passwor d=125521

# NGW
ngw. url =http://127.0.0. 1: 8040

# DOORS

doors. ur

= http://1 ocal host: 9097/

doors.tinmeout = 60
doors. username = user
doors. password = password



# ELVIS
elvis.url=http://1ocal host: 9001/ epadmi n/
el vis.tinmeout =60

letc/eltex-portal/application.conf 6:

letc/eltex-portal/application.conf

dat abase {
host = | ocal host
port = 3306

name = ELTEX PORTAL
user = javauser
password = 125521

pool {
# Time to wait for a connection
connectionTi meout = 10s
# Time to wait for connection validation
val i dati onTi neout = 3s

mn=1
max = 10
}
letc/eltex-portal-constructor/application.conf 14:

letc/eltex-portal-constructor/application.conf

login {
#
nmaxAtt enpt sLogin = 3
maxAttenptsiP = 5
#
bl ockTime = 5m

}

dat abase {
host = | ocal host
port = 3306

name = ELTEX PORTAL
user = javauser
password = 125521

pool {
# Time to wait for a connection
connectionTi meout = 10s
# Time to wait for connection validation
val i dati onTi neout = 3s

|
=

mn =
max = 10

letc/eltex-mercury/application.conf 6:



letc/eltex-mercury/application.conf

dat abase {
host = | ocal host
port = 3306
name = radius

user = javauser
password = 125521

readOnly = fal se

pool {
maxPool Si ze = 20
mnimmdle = 1
connectionTi meout = 5000

}
}
jdbc {
properties {
useSSL = fal se
}
}

sor nBEnabl ed = fal se

| oggi ng {
host = | ocal host
port = 9099

}

letc/eltex-ngw/application.conf 14:

letc/eltex-ngw/application.conf

}

emai | {
/1 Qutgoing (service to user) email config
out goi ng.config = ""

}

dat abase {
host = | ocal host
port = 3306
nane = el tex_ngw
user = javauser
password = 125521

pool {
/1l Time to wait for a connection
connectionTi meout = 10s
/1l Time to wait for connection validation
val i dati onTi neout = 3s

mn =1
max = 10

lusr/lib/eltex-ems/conf/config.txt 6, 19, 28, 37, 50, 59, 68, 77, 86, 100:



lusr/lib/eltex-ems/conf/config.txt

# DB Event

pool Nanmel=event
event.jdbc.driver=org.gjt.mmnysql.Driver

event . jdbc. dbUr | =j dbc: nysql : //1 ocal host/eltex_al ert?
useUni code=t rue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti meout =5000&useSSL=f al se
event . j dbc. user nane=j avauser

event . j dbc. passwor d=125521

event . j dbc. maxPool Si ze=32

event . jdbc.inUse=yes

# rempte db host access with su privileges

# event.ssh. | ogi n=

# event. ssh. password=

# event.ssh. port=

# DB Tree

pool Nane2=tree

tree.jdbc.driver=org.gjt.nnmnysql.Driver

tree.jdbc. dbUrl =j dbc: nysql : / /1 ocal host/ el tex_ens?

useUni code=t rue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti meout =5000&noAccessToPr ocedur eBodi es=t r ue&u
seSSL=f al se

tree.jdbc. user nane=j avauser

tree.jdbc. password=125521

tree.j dbc. maxPool Si ze=20

tree.jdbc.inUse=yes

# DB Ont

pool Nane3=ont

ont.jdbc.driver=org.gjt.mm nysql.Driver

ont. jdbc. dbUrl =j dbc: nysql : //1 ocal host/eltex_ont?

useUni code=t rue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti meout =5000&useSSL=f al se
ont . j dbc. user nane=j avauser

ont. j dbc. passwor d=125521

ont . j dbc. maxPool Si ze=40

ont.jdbc.inUse=yes

# DB Sysl og

pool Nane4=sysl og

sysl og.jdbc. driver=org.gjt.nmmnysql.Driver

sysl og. j dbc. dbUr | =j dbc: mysql : / /1 ocal host/ Sysl og?
useUni code=t rue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti meout =5000&useSSL=f al se
sysl og. j dbc. user nane=j avauser

sysl og. j dbc. passwor d=125521

sysl og. j dbc. maxPool Si ze=4

sysl og. j dbc. i nUse=yes

# rempte db host access with su privil eges

# sysl og. ssh. | ogi n=

# sysl og. ssh. passwor d=

# sysl og. ssh. port=

# DB acsnmin (alias=cpe)

pool Nanme5=cpe

cpe.jdbc.driver=org.gjt.mm nysql.Driver

cpe. jdbc. dbUrl =j dbc: nysql : //1 ocal host/acsmai n?

useUni code=t rue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti neout =5000&useSSL=f al se
cpe. j dbc. user nane=j avauser

cpe. j dbc. passwor d=125521

cpe. j dbc. maxPool Si ze=2

cpe.jdbc.inUse=yes

# DB acscnds(al i as=cnds)

pool Nane6=cnds

cnds. jdbc. driver=org.gjt.mmnysql.Driver

cmds. j dbc. dbUr | =j dbc: nysql : / /1 ocal host/acscnds?

useUni code=t rue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti meout =5000&useSSL=f al se
cnds. j dbc. user nane=j avauser

cmds. j dbc. passwor d=125521

cnds. j dbc. maxPool Si ze=2

cnds. j dbc. i nUse=yes



# DB acsinf(alias=inf)

pool Nane7=i nf

inf.jdbc.driver=org.gjt.nmnysql.Driver

inf.jdbc.dbUrl =jdbc: nysql://1ocal host/acsi nf?

useUni code=t r ue&char act er Encodi ng=ut f 8&r el axAut oCommi t =t r ue&connect Ti meout =5000&useSSL=f al se
i nf.jdbc. usernane=j avauser

inf.jdbc. password=125521

i nf.jdbc. maxPool Si ze=2

inf.jdbc.inUse=yes

# DB acscache(al i as=cache)

pool Nanme8=cache

cache. jdbc.driver=org.gjt. m nysql . Driver

cache. jdbc. dbUr | =j dbc: nysql : / /1 ocal host/ acscache?

useUni code=t rue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti neout =5000&useSSL=f al se
cache. j dbc. user nane=j avauser

cache. j dbc. passwor d=125521

cache. j dbc. maxPool Si ze=2

cache. j dbc. i nUse=yes

# DB radius(alias=radius)

pool Nane9=r adi us

radi us. jdbc.driver=org.gjt.mmnysql.Driver

radi us. j dbc. dbUrl =j dbc: nysql : //1 ocal host/radi us?
useUni code=t rue&char act er Encodi ng=ut f 8&r el axAut oConmi t =t r ue&connect Ti meout =5000&useSSL=f al se
radi us. j dbc. user nane=j avauser

radi us. j dbc. passwor d=125521

radi us. j dbc. maxPool Si ze=40

radi us. j dbc. i nUse=yes

# rempte db host access with su privil eges

# radi us. ssh. | ogi n=

# radi us. ssh. passwor d=

# radi us. ssh. port=

# DB wreless (alias=wreless)

pool Namel0=wi r el ess

wirel ess.jdbc.driver=org.gjt. mm nmysql.Driver

wirel ess.jdbc.dbUrl =j dbc: nysql://1 ocal host/w rel ess?

useUni code=t rue&char act er Encodi ng=ut f 8&r el axAut oComni t =t r ue&connect Ti meout =5000&useSSL=f al se
wi rel ess. j dbc. user nane=j avauser

wirel ess. jdbc. password=125521

wi rel ess. j dbc. maxPool Si ze=30

wirel ess.jdbc.inUse=yes

# nencached server address
#mencached_server _i p_port=127.0.0.1: 11211

MySQL
MySQL.
SET PASSWORD FOR j avauser @27.0.0.1 = PASSWORD(' 125521");

SET PASSWORD FOR j avauser @ % = PASSWORD(' 125521');
SET PASSWORD FOR 'javauser' @I ocal host' = PASSWORD(' 125521');

radius

letc/eltex-radius/local.conf 10:



letc/eltex-radius/local.conf

# Ports on which the server will listen
aut h_port=1812

#acct _port=1813

i nner _tunnel _port=18121

# MySQ. dat abase
db_host ="1 ocal host "
db_port =3306

db_I ogi n="r adi us"
db_passwor d="123123"
db_nanme="r adi us"

# PCRF

# |If you setting pcrf_enabl ed=0, then you al so should enabl e accounting port listening in "default" server
pcrf_host="127.0.0. 1"

pcrf_port=7080

pcrf_enabl ed=1

# EAP
ca_cert_nanme="| ocal . pent
tls_key_password="1234"

MySQL
MySQL.
SET PASSWORD FOR 'radius' @127.0.0.1' PASSWORD( ' 123123") ;

SET PASSWORD FOR 'radius' @1 ocal host' PASSWORD( ' 123123") ;
SET PASSWORD FOR 'radius' @% = PASSWORD('123123');

adm n@bunt u: ~# sudo systenttl restart eltex-*.service
admi n@bunt u: ~# sudo service tontat8 restart

adm n@bunt u: ~# sudo service nysql restart
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